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‘About Moving Boat
Task number: 1987

‘Show task - @

. A boat sails on a river against its current from point A to point B and back to point
i g A again. The velocity of the boat in relation to water is identical in both cases and is
‘Tasks Task filter » equal to 4 km - h™'. The velocity of the current is 1.6 km - h~!. Determine the ratio of @

o

the time the boat takes to sail from point A to point B and back and the time it

would take the boat to cover the same distance on a still lake.

‘ Given values

‘ Hint 1: Velocity of the boat sailing from A to B

‘ Hint 2: Velocity of the boat sailing from B to A

‘ Hint 3: Time ratio
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Mozi . U LI R P Let us assume the distance AB is equal to s km.
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velocity in relation to water and the velocity of the current, that is:
u L Search
Medi . il oz n=v—r.
ol 1 e
s If the boal sailed on still water, its velocity would be greater by the velocity of the current r.
]
- u The boat will travel the distance s against the current in time:
. L Mcdi 5 .
h-= — = ,
N ™0 v—r
[ ]
H O | Hint 2: Velocity of the boat sailing from B to A
T ©
(]
Hint 3: Time ratio i
Hl O Wpisz tu wyszukiwane stowa = 2 ) < ~ 3B m Q) i L]
in p Wy = g < ® 9 Y : 26.10.2020

http://physicstasks.eu/1987/moving-boat
Z. Koupilowa, H. Mandlikova, K. Rochowicz, G. Karwasz, Zbirka zadan z fizyki, UMK, 2014



Interactive excercises In Internet

hg Wydziat Fir X | astronomic X | WP A portable X . G Quantum X | @ Inflationar X | EI}E Connectic. X . CI Kociclgaz X | f VALVOLA X @ MovingE

3_Int (_ ~ i s - — . sanne

B
h% Widziat Fir X | astronomi: X | 1P A portable X G Quantum X | @ Inflationar X | E‘E Connectio: X C'I Kocictgazr X | i VALVOLA X @ MovingBr X +

x |+

3_Int

B% Wydziat Fir X | astronomi: X ‘ WP A portable X ‘ G Quantum X | D Inflationar X | E“E Connectio: X . CI Kociot gar X | f VALVOLA X @ Moving E

x: W
3_Int
h% Widziat Fir X | astronomi: X | 1P A portable X G Quantum X | @ Inflationar X | E‘E Connectio: X C'I Kocictgazr X | i VALVOLA X @ MovingBr X +
Al 3 Int & C A Niezabezpieczona | physicstasks.eu/1987/moving-boat B a &% » @ H
Go 4
S | Hint 2: Velocity of the boat sailing from B to A ‘
| Hint 3: Time ratio ‘
Go
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